>

SRT-HP46W8-BS

SRT-HP46W8-BS_0.4G_M12

>
0.4[G] ( 1 )
( YM12
> 24 1447
18 MPa 3
)M12 0.4[G]
D= 760
> |
!
\Y
( ) M 531 [kq] 350kg 600kg o
H 2170 [mm] 1T-"71T %3
B 630 [mm] 35 S |
D 760 [mm] (4 MG, u| <
L 200 [mm] T
he 1185 [mm] W T
dg 207 [mm] Ri( )
d 534 [mm]
) ( D1 327 [mm] Dl=d dg -1
n 3[ ]
O nt i ] | s
!
M12 oo g
—— B> 1 &
12.7 [mm] |
Ly 60 [mm] I ﬁ
3[ ] L
12 [mm]
A 113.0 [mm?]
ft 176 [N/mm’] 1-2
(SS400) fs 101 [N/mm’]
Fc 18 [MPa] [MPa]=[N/mm?])
Ky 0.4 [G]
Kv 0.2 [G] Ky=(1/2)x Ky
G 9.8 [m/s’]
Fu 2.1 [kN] Fy=Kyx Mx G
Fv 1.0 [kN] Fy=Kyx Mx G

172



SRT-HP46W8-BS 0.4G M12

4. )
( )
l (M G+F
'™ G A
* . Lb ;
2
Q 0.7 [kN] Q=Fu/n
Ros 3.0 [kN] Ry={Fyx hg (Mx G Fy)x dg} (dx nt)
Rie 7.0 [kN] Rpo=(Fyx hg (Mx G Fy)x dg} (dx nt)
5.
(6h)
1)
ft 176 [N/mm?]
ot 26.5 [N/mm?] ot ft 0 t=Ry,,/A
2)
fs 101 [N/mm?]
1 6.1 [N/mm?] T fs 1 =Q/A
3)
fts 237 [N/mm?] fts ft fts'=ft fts=1.4ft-1.61
fts' 176 [N/mm’]
ot 26.5 [N/mm?] gt fts'
(0] tT (0] ' M12
(2)
I 2005 ( ) |
Ly 6 [cm] 60[mm] ( ) Lb
Fc 1.8 [kN/cm?] 18[MPa]
p 0.010 [-] p=1/6x Min(Fc/30 0.05+Fc/100)
Ta 6.7 [kN] Taz6m L, p ( Ta 12.0[kN])
Ta 6.7 [KN]
Rus 3.0 [kN] Ry Ta
Ta Rb1

2/2



